o2 2" Ul H A, B, C, D7}
2 flofl 7] ATk x O] A7E
“FobH?

D 21° @22° ® 23°

@ 24° (& 25°

B

/APC + /ACP = /DAC

40° + LACP = 62°

. LACP =22°

5.0ptABe] Tt 9F2He ook stz
[x =22°




o2 18 22 AABC 9|4 sinx X cos x X tan x 9] S £5hoi 2t

> =
144
b 3=
> NE 6o

B

ADBE @ ACBA (AA )

=]
L /C=x
BC = V122 + 52 = V169 = 13
sinx—ﬁ— =2
- BC 13
COS)C_£—E
~BC 13
AB 12
tanx = — = —
AC 5

144

.. sinx X cosx X tanx = —

169




o} Yo A AABC 9 ADBC = Z+ZF /BAC = /BCD = 90° 9
A7 7g ol 1, /DBC = 30°, /ACB = 45°, CD = 4cm ¥ 1,
AABC 9] yol&=?

DC 4 1 —
ABDC A .30°:=:=:—,B :8 o
o A] sin =5 - 55 = 2 cm ©|t}
BC BC -
X, cos30° = B=C = ?C \/73, BC = 4\/§(cm) o]tk

A
AABC of & 45° =
1A cos P

o,
AABC £ HZolSHAZge| D2 Yol Tohe | x 2B x

2V6 = 12(cm?) ©]t}.




4.

obdf 13 2 AKUANNHAG=FG= 5 p
[e]

5cm , (BHF = 30° & off, o] 2]-8-HA| 2] &

|
| C
m =9 b=
|
E; 3033
F S sem- G
12 12
@ 253\/60m3 @ 5‘/6(:m3 ©) 5\/6cm3

3 2
@ 68V6cm? ® 125V6 cm3

B

ﬁ:Sﬁcm,E:ﬁ:ﬁxtamSO"

_ 1 56
L AE=5V2x — = ——
V3 3

5v6 1256

HoE=5x5x (cm?)

3 3




& 173 2 aABC 9 §ol7k 80 V3em? & uf, AC 9] Ao]
F5tofet,

il

A

>
> HE T 4421 em

x AB x BC x sin 60° = 80 V3

% Ex20x\/7§:80\/§

C=/(8v3) +122

=4+21 (cm)

Ss8em” --12cem -~
T=20cm--"




ohe 1 9] HYPAPEYP ABCD 2] Yol
7} 242 & o, BPAIHE ABCD 9
=89 dol=?

oun @n 0 @ O

BC = x 2} 51 8 x x x sin45° = 242
x=60]E2
PYPAPHY ABCD 9] E8|9] Zdol=2x (8 +6) = 28 o]t}




7. oe AN F 40, 0 o WiAEe] el 27t 8em, 15em ©]1
LOA0" =90° & o, -5€ AB ] ol o=t

b =13 cm
24

B ,

00’ = V152 4-82 = 17(cm)

1 — 1
1 — =17Tx AM x —
8 X 5><2 7 X ><2,

— 120
AM = 1—7 (cm)

KB = 9AM = 22 (cm)




8. e 133} o] AABC 9] WUl Hoh=
AR PQE 12 W, APBQ 2 589 HdolE
Fstojzt (&, D, E, F, G = HHolt})

o
(@]
=

>
> HE 12 cm

B \
QG = QD, PG = PF |22 aPBQ 2| £¥9] Z°|= BD+BF
oF gt

BD =x 2} 5}¥

(11-x)+8-x)=7

x=06

.. BD+BF =6+ 6 =12 (cm)




o2 I3 Zol ¥ O o WHst= 27t
3 ABCDE °f|A /ABC = 100°, /CDE =
125° 0|1, AO = 6cm € o, Z30&E AOE
o] Yo|&?

® nem? @ 4ncm? @ 6rem?
@9ﬂcm2 ® 1lmem?

B \
H%A BE £ 1o WHst= A A

Z+g oA (CBE = 55° o|B&
/ABE = 45° o]t} 5.0ptAE ©|
%47 /AOE = 2/ABE = 90°
oltt. mEtA RAE AOE 2 |

o] § = ax62x = 97(cm?)

360°




10. oS A PQEF Y0, 0 o F5Ho|th /CAP = 95° 4
o], /DBP o] I27]=9

@© 70° @ 80° (3))85° @ 90° ® 95°

LCAP = /PQD = 95°
/DBP + 95 = 180°
.. /DBP = 85°




11.

th& 2ol BPT = 22° & o, LABT ©] 3715 FoHH?

@ 300 @ 320 @ 340 @ 360

B

(PTA = /x 2t o}
(BAT = 22° + /x
AABT ©J|A
22° 4+ /x + £x = 90°
2/x = 68°
/x = 34°




12, o5 I8 A4 PQ = F 9] HAoltt. /PTA =179°, .CAB =
41° 4 o, zx + 2y O F& FSHA?

@® 100° @ 105° ® 110° @ 115° ®)120°

B ~
Ly = (PTC =179°
/QTB = /BAT = 41°
/x = /QTD = 41°
SoLx+ Ly =41° + 79° = 120°




13. o= IHAMPT = F 90, O o HAL wf, x, y o] ZolE +5}
ofzt.

i

it

\VARRVARR A 4
0
it
=
I
S

02
il
~
|
—_
o

¥ =6x(6+3), x>=54 . x=3V6
33+y)=6x9, 9+ 3y =54
3y=45 ..y=15




14. ot I8 3} Zol vkx]59] dol7b1 <l
AR QoA OC =0.59 € o, CD 9 2
o] & F5H?

D
11,
fl
/
I
v ]
O C
Zie Atel TALRI EHE
53° 0.80 0.60 1.383
54° 0.81 0.59 1.38
55° 0.82 0.57 1.43
56° 0.83 0.56 1,48

® 0.57 @ 1.38 ® 0.59 @ 0.82 3)0.81

cosx° = 2 _9¢ ,0C =059 0|22
oD 1

x°=054°

sinb4° = C=D = C—D =0.81 0|22
OD 1




15. o 29olA DABCD £ @ o] 2017} 10em A GAZHE ol o,
DE 7} BC £ A% 02 a4 o] 1% ), DE o] Zol?

H

A D
/// l(l)cm
/P ;
E /
< O //
B “~-10cm--~ C
24 25
@) ?cm @ ?cm ® 13cm
27
@ ?cm ® 1l4cm

EP=EB=x-10
AE=10- (x-10) =20 - x
AAED oA

DE? = AE? + DA?

x? = (20 - x)? + 102

40x = 500
25

X = —cm
2




